Potenzen mit ganzen Exponenten

Aufgabe 2.1

(a) 24242+2+2=10

Aufgabe 2.2

(a) 2+2+2-2-2-2=0

Aufgabe 2.3

(a) e+ +ao+x=4x

Aufgabe 2.4
(a) 2a+ 2a + 2a = 6a
Aufgabe 2.5
(@) (z+1)+(x+1)+(x+1)=3x+1)
b) (z+1)-(x+1)-(x+1)=(z+1)3
Aufgabe 2.6
(a) ab+ ab+ ab+ ab+ ab = 5ab

(b) ab-ab-ab-ab-ab= (ab)® = a®b°

Aufgabe 2.7

(a) z2—2=0

Aufgabe 2.8

(a) 8a — 2a = 6a

Aufgabe 2.9

(a) v*+y* =y* + 47

Aufgabe 2.10
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(b) 2:2-2.2.2=232

(b) 2-2-2:2:2:2=1

(b) vz -x-x=2

(b) 2a-2a-2a = 8a®

(b) z:z2=1
(b) 8a:2a=4
(b) y*-y* =y

(a) P+ + 2+ 22+ 22+ =22+ 32"+

(b) a3 - 2% 2% 2% 2% v =2



Aufgabe 2.11

(a) m?n + 2m?n + 5m?*n + 3mn? + mn? = 8m?n + 4mn?

(b) m?n - 2m?n - 5m?n - 3mn? - mn? = 30msn’

Aufgabe 2.12

(a) 25 —52=32-25="7 (b) 3%+ 3% =27 +81 =108

Aufgabe 2.13

(2) (—2)° = —32 (b) (—5)* = 625

Aufgabe 2.14

(a) 031 =0 (b) (=1)1?" = —1
Aufgabe 2.15
(2) (%) - (b) (—%)7: o

Aufgabe 2.16

3\° 243 7\* 343
W () =% v (5) =%
Aufgabe 2.17
(a) (V3)' =3 =27 (b) (—v5)' =52=25

Aufgabe 2.18
(a) (V6) =675 (b) (—V7)" = —49V7

Aufgabe 2.19

1\ 1 VT 121
o (o) - s o ()2




